Multiplicative Inverse (Reciprocal)

Recall Conjugates (a +bi)(a-bi)

*only F, L... a² +b² $\frac{61}{5-3i}(5-3i)(5+3i)$ $\frac{35-9i^{2}}{5}$ $\frac{35+9}{5} \Rightarrow 34$ $\frac{35+9}{5} \Rightarrow 34$ $\frac{35+9}{5} \Rightarrow 34$ For any non-zero Complex # atbi, its multiplicative unverse is... *multiplicative inverse (product) =1 $\frac{a+bi}{1}\left(\frac{1}{a+bi}\right) = 1$ Fund the multiplicative universe of ... (1) $3+4i \Rightarrow \frac{1}{3+4i(3-4i)} \Rightarrow \frac{3-4i}{9+16} = \frac{3-4i}{25}$ *Wationalize

> mult. by Conjugate $\frac{3}{25} - \frac{4}{35}i$ OK: $(3+4i)\left(\frac{3}{35}-\frac{4}{35}i\right)$ FOIL

 $(3+4i) \left(\frac{3}{35} - \frac{4}{35}i\right) Foll$ $\frac{9}{35} - \frac{12}{35}i + \frac{12}{35}i - \frac{16}{35}i - \frac{16}{35}i$ $\frac{9}{35} + \frac{16}{35}i \Rightarrow \frac{35}{35} = 1$

$$\frac{9}{35} + \frac{10}{35} \Rightarrow \frac{35}{35} = 1$$

$$\frac{3}{6} + \frac{3}{3} - \frac{3}{6} - \frac{3}{6} = \frac{2}{6}$$

$$\frac{3}{6} + \frac{3}{6} = \frac{6}{6} = 1\sqrt{2}$$

(1)
$$(2+3i)$$
 ÷ $(1+2i)$

Rewhite $(2+3i)^{\frac{1}{1-2i}} = (2-4i+3i-4i)^{\frac{1}{2}} = (2-4i+4i)^{\frac{1}{2}} = (2-4i+$